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FOCUS:  Calculating Keq (all), Review Topics, Entropy calculations (Honors)
1.  Write the expression for the equilibrium constant for each of the following:

a.  2HBr(g) 
b.  2SO3(g) [image: image1.png]


 2SO2(g) + O2(g)
c.  CO2(g) + H2(g) [image: image2.png]


 CO(g) + H2O(g)

d.  4NH3(g) + 5O2(g) [image: image3.png]


 6H2O(g) + 4NO(g)

2a.  PCl5 [image: image4.png]


 PCl3 + Cl2
Calculate Keq if at equilibrium [Cl2] = 0.25M, [PCl3] = 0.25M and [PCl5] = 0.125M.

2b.  N2(g) + O2(g) [image: image5.png]


 2NO(g)
Calculate Keq if at equilibrium [N2] = 0.50M, [O2] = 0.50M, and [NO] = 0.020 M.

3.  Which of the following processes will lead to an increase in the entropy of the system?

(a) N2(g) + 3H2 (g) [image: image6.png]


2 NH3(g)

(b) H2O(l) [image: image7.png]


H2O(g)

(c) CaCO3(s) [image: image8.png]


CaO(s) + CO2(g)

(d) NH4NO3(s) + H2O(l) [image: image9.png]


 NH4+ (aq) + NO3- (aq)

4.  Give one example of a change in entropy that occurs in a) your real life and b) chemistry.

5.  What are the conditions that will ALWAYS lead to a spontaneous reaction?  How about ALWAYS nonspontaneous?

HONORS  6.  Calculate the change in entropy for the following reactions.

a.  CH4(g) + O2(g) → CO2(g) + H2O(g)

b.  CaCO3(s) → CaO(s) + CO2(g)
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